JE/Works

Sr No.

S~
p—
-2
O € o
@ 9 =3
- P n
o 2 c
O O C|a|u|a|l«|a|<|alu|<|a]o]|a|a|<|o]|alo]|ala|l<c|o]|<|alo|alo]|a|l<|o|o]|a|ala|lalalalo|a|o|a|lalo|<|a
Al ISl ISl ISl ISl IS ol ISl R ol S ol Il IR ol S ol RS ol IR ol S ol RSl I ol IS ol ISl IR ol S ol ol S ol S ol IS ol I ol S ol ol S ol IS ol ISl IR ol IS ol IRl IR ol IS ol RSl IS ol IS ol RSl I ol ISl RSl RS
(%)
c
2
)
Q.
@)
c
2
)
(7]
(V]
=}
of
)
[=
[J]
S
-
AN |(n]|Oo|N|o|o|O|dA|N|mm|g|n]|ON]|o|O|O|dA|N[|F|n|O|N][o|O]|O|dA|lN|mm|s(n]|O|IN|O|O|O|H| NS
c —A|lHA | A | A A A | A H | HA | A | N|N|N|[N|N|N|[N|[N|N|N|O[o[fon|od|od|od|od|on|on|on ||| S
2
tI
o
=
g 4
c
2
i
(V]
O g|o|lg|glalololglalalolo|lalalalolo|lglaglalalo|laglaglalalala|la|alalalo|lalalalalo|laglalalalalala
uV.CCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCC
g =SS 2[2[2]|=212|12|12 222221212222 221222 22 222122 2 2 2 2212122 =
AN |(n]|Oo|N|o|o|O|dA|N|mm| g |n]|ON]|o|O|O|dA|N[|F|n|O|IN][o|O]|O|dA|lN|mM|S(n]|O|IN|O|O|O|H| NS
—A|lHA | A | A A A | A H || A | N|N|N|[N|N|N|[N|[N|N|N|O[on[fon|od|od|od|odnon|on|on|<| <SS
=
c
2
=)
(7]
(V]
=}
g
AN |(n]|Oo|N|o|o|O|dA|N|mm|g|n]|ON]|o|O|O|dA|N[|F|n|O|N][o|O]|O|A|lN|mM| s (n]|O|IN|O|O|O|H| NS
—A|lHA | A | A A A | A H || A | N|N|N|[N|N|N|[N|[N|N|N|O[on[fon|od|od|od|od|on|on|on ||| S

Page 1 of 3



Correct

Question |Question |Parent Question Option(s)/
Sr No. |QuestionId Type Label Id Options |Answer
45 45|MCQ 45 4B
46 46|MCQ 46 4B
47 47|McQ 47 4a|p
48 48|MCQ 48 a|A
49 49|MCQ 49 4a|p
50 50(McQ 50 a|A
51 51{McQ 51 alc
52 52(McQ 52 4B
53 53[mMcQ 53 alc
54 54(McQ 54 4B
55 55[McQ 55 a|A
56 56/MCQ 56 4B
57 57[mMcQ 57 alc
58 58[McQ 58 a|A
59 59/mMcQ 59 a|A
60 60[MCQ 60 4a|p
61 61[McCQ 61 4B
62 62(McQ 62 alc
63 63[MCQ 63 4B
64 64/MCQ 64 a|A
65 65[MCQ 65 4a|p
66 66/MCQ 66 alc
67 67[McQ 67 alc
68 68[MCQ 68 4B
69 69/MCQ 69 alc
70 70[McQ 70 4a|p
71 71{McQ 71 4a|p
72 72(McQ 72 alc
73 73[McQ 73 4a|p
74 74|MCQ 74 4a|p
75 75[McQ 75 4a|p
76 76|MCQ 76 4B
77 77|McQ 77 alc
78 78|McQ 78 4B
79 79/mMcQ 79 4a|p
80 8o[mcQ 80 a|A
81 81{mca 81 alc
82 82[mca 82 alc
83 83[mca 83 4a|p
84 84[mcq 84 a|A
85 85[MmcQ 85 alc
86 86|McQ 86 alc
87 87[mca 87 4a|p
88 88[mca 88 4B
89 89[mca 89 alc
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Correct

Question |Question |Parent Question Option(s)/
Sr No. |QuestionId Type Label Id Options |Answer
90 90[mMcQ 90 a|A
91 91{mcQ 91 4B
92 92(mcQ 92 a|A
93 93[mcQ 93 4a|p
94 94(mcQ 94 alc
95 95[MmcQ 95 a|A
96 96(McQ 96 4a|p
97 97(mcq 97 a|A
98 98[mcq 98 alc
99 99[mcQ 99 a|A
100 100{mMcQ 100 a|A
101 101{mcQ 101 alc
102 102(mMcQ 102 a|A
103 103(mMcQ 103 4a|p
104 104(mcQ 104 4B
105 105(McQ 105 a|A
106 106(MCQ 106 4B
107 107(mMcQ 107 alc
108 108[mMcQ 108 a|A
109 109(mMcQ 109 4a|p
110 110{McQ 110 4B
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